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WEB APPLICATION Unit-4 Chapter-6

1. Tick (v) the correct option.

(@) Which of the following is not a visual impairment?
() Low-vision (ii) Partial blindness
(iii) Color blindness (iv) Dyslexia

(b) Which of the following is an alternative method by which a system is customized to make life
easier for people with disability to some extent?

(i) Prospective Technology (ii) Suggestive Technology
(iii) Assistive Technology (iv) None of these
(c) Which of the following keys help people who have vision impairment or cognitive disabilities?
(i) Toggle Keys (i) Filter Keys
(iii) Sticky Keys (iv) All of these
(d) Which of the following is a type of network in which the computers are connected over large
geographical area such as a city?
(i) LAN (i) MAN
(iii) WAN (iv) None of these
(e Inthe ....................... topology, computers are placed in a circle of cable without any
terminating end since there is no disconnected end.
(i) Star (ii) Bus
(iii) Ring (iv) Mesh
2. Fillin the blanks.
(@ A topology combines the characteristics of linear, bus and star topology.
(b) WWW was introduced in 1989 by the English Physicist ........................ .
(@ A is the principal computer or server that links or stores contents of different
websites.
d) A is a hardware device which provides common connection point to connect
several devices together in a network.
(€ A is a small segment of a larger message.
(f) ISPstandsfor ........................ .
(@ is an application software program to access the World Wide Web.
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